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March 08, 2023 GEMERATOR 2 GCEES N
1) Simplify 8:3 2) 'What isthe probability of rolling a ) )
number less than 2.when rolling adice Find the next three numbersin
the sequence
2446688 , ,
Answer: Answer: Answer:
4) 100+ 10 5) 41% of 31 6) Solve by factorising
f2+14f+13=0
Answer: Answer: Answer:
7) 16/,-61, 8) 1,-5, 9  8x1000
Answer: Answer: Answer:
10) Find peri meter of 11) b 12) Find the mode of the following set of data:
sguare having each \ 13, 13, 28, 28, 28, 22, 22, 22, §, 8,
s side (s) equals 83 in 8, 10, 10, 44, 44, 44
a o] c
s Measure angle boc
Answer: Answer: Answer:
13) Anamount was increased by 10% to 14) Find perimeter of 15) Find perimeter of
$274.00. Find the original amount. square having each square having each
s side (s) equals 59 m s side (s) equals 59 m
s s
Answer: Answer: Answer:
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16) (9% 17) + (10 x 63) 17)  (-238)+ 14 18) Convert the following improper
fraction 6%/, + 3%, into amixed
number

Answer: Answer: Answer:

19) Convert the following improper 20) 79 % 77

fraction 6%/, + 3%, into a mixed
72
number
Answer: Answer:
Total: /20
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1)8:3 2) Y 3)10,10,12,
8) 16/, 9) 8000 10) 332in
15) 236m 16) 2169 17) -17
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Answers:
4) 10 5)12.71 6)f=-1or-13 7) 15Y,
11) 115 12) 28 13) $249.09 14) 236m
18) 10 19) 10 20) 714
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